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Opti 501 Solutions 1/5 
 
1.44) Considering that 𝜌𝜌 = �𝑥𝑥2 + 𝑦𝑦2, 𝝆𝝆� = cos𝜙𝜙 𝒙𝒙� + sin𝜙𝜙𝒚𝒚�, 𝝓𝝓� = − sin𝜙𝜙𝒙𝒙� + cos𝜙𝜙 𝒚𝒚�, 
sin𝜙𝜙 = 𝑦𝑦/�𝑥𝑥2 + 𝑦𝑦2, and cos𝜙𝜙 = 𝑥𝑥/�𝑥𝑥2 + 𝑦𝑦2, we may write 

 𝑨𝑨(𝒓𝒓) = �𝐴𝐴𝜌𝜌 cos𝜙𝜙 − 𝐴𝐴𝜙𝜙 sin𝜙𝜙�𝒙𝒙� + �𝐴𝐴𝜌𝜌 sin𝜙𝜙 + 𝐴𝐴𝜙𝜙 cos𝜙𝜙�𝒚𝒚� + 𝐴𝐴𝑧𝑧𝒛𝒛�, 

 𝑩𝑩(𝒓𝒓) = �𝐵𝐵𝜌𝜌 cos𝜙𝜙 − 𝐵𝐵𝜙𝜙 sin𝜙𝜙�𝒙𝒙� + �𝐵𝐵𝜌𝜌 sin𝜙𝜙 + 𝐵𝐵𝜙𝜙 cos𝜙𝜙�𝒚𝒚� + 𝐵𝐵𝑧𝑧𝒛𝒛�, 

 𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

= 𝑥𝑥
�𝑥𝑥2+𝑦𝑦2

= 𝑥𝑥
𝜌𝜌

= cos𝜙𝜙, 

 𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

= 𝑦𝑦
�𝑥𝑥2+𝑦𝑦2

= 𝑦𝑦
𝜌𝜌

= sin𝜙𝜙, 

 𝜕𝜕 sin𝜙𝜙
𝜕𝜕𝜕𝜕

= − 𝑥𝑥𝑥𝑥
(𝑥𝑥2+𝑦𝑦2)3/2 = −𝑥𝑥𝑥𝑥

𝜌𝜌3
= − sin𝜙𝜙 cos𝜙𝜙

𝜌𝜌
  →  �𝜕𝜕𝜙𝜙

𝜕𝜕𝜕𝜕
� cos𝜙𝜙 = −𝑥𝑥𝑥𝑥

𝜌𝜌3
   →   𝜕𝜕𝜙𝜙

𝜕𝜕𝜕𝜕
= − 𝑦𝑦

𝜌𝜌2
= −sin𝜙𝜙

𝜌𝜌
, 

 𝜕𝜕 sin𝜙𝜙
𝜕𝜕𝜕𝜕

= 𝑥𝑥2

(𝑥𝑥2+𝑦𝑦2)3/2 = 𝑥𝑥2

𝜌𝜌3
= cos2𝜙𝜙

𝜌𝜌
                     →  �𝜕𝜕𝜙𝜙

𝜕𝜕𝜕𝜕
� cos𝜙𝜙 = 𝑥𝑥2

𝜌𝜌3
        →    𝜕𝜕𝜙𝜙

𝜕𝜕𝜕𝜕
= 𝑥𝑥

𝜌𝜌2
= cos𝜙𝜙

𝜌𝜌
, 

 𝜕𝜕 cos𝜙𝜙
𝜕𝜕𝜕𝜕

= 𝑦𝑦2

(𝑥𝑥2+𝑦𝑦2)3/2 = 𝑦𝑦2

𝜌𝜌3
= sin2 𝜙𝜙

𝜌𝜌
, 

 𝜕𝜕 cos𝜙𝜙
𝜕𝜕𝜕𝜕

= − 𝑥𝑥𝑥𝑥
(𝑥𝑥2+𝑦𝑦2)3/2 = −𝑥𝑥𝑥𝑥

𝜌𝜌3
= −sin𝜙𝜙 cos𝜙𝜙

𝜌𝜌
. 

We thus have 

 𝐴𝐴𝑥𝑥
𝜕𝜕𝐵𝐵𝑥𝑥
𝜕𝜕𝜕𝜕

= �𝐴𝐴𝜌𝜌 cos𝜙𝜙 − 𝐴𝐴𝜙𝜙 sin𝜙𝜙� �𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

cos𝜙𝜙 + sin2 𝜙𝜙
𝜌𝜌

𝐵𝐵𝜌𝜌– 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + sin𝜙𝜙 cos𝜙𝜙
𝜌𝜌

𝐵𝐵𝜙𝜙� 

 = �𝐴𝐴𝜌𝜌 cos𝜙𝜙 − 𝐴𝐴𝜙𝜙 sin𝜙𝜙� 

 × ��𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

+ 𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜙𝜙

𝜕𝜕𝜙𝜙
𝜕𝜕𝜕𝜕
� cos𝜙𝜙 + sin2 𝜙𝜙

𝜌𝜌
𝐵𝐵𝜌𝜌– �𝜕𝜕𝐵𝐵𝜙𝜙

𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

+ 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜙𝜙

𝜕𝜕𝜙𝜙
𝜕𝜕𝜕𝜕
� sin𝜙𝜙 + sin𝜙𝜙 cos𝜙𝜙

𝜌𝜌
𝐵𝐵𝜙𝜙� 

 = �𝐴𝐴𝜌𝜌 cos𝜙𝜙 − 𝐴𝐴𝜙𝜙 sin𝜙𝜙� ��𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙� cos𝜙𝜙 + sin2 𝜙𝜙
𝜌𝜌

𝐵𝐵𝜌𝜌 

 −�𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙� sin𝜙𝜙 + sin𝜙𝜙 cos𝜙𝜙
𝜌𝜌

𝐵𝐵𝜙𝜙� 

 = 𝐴𝐴𝜌𝜌 ��
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

sin𝜙𝜙� cos2 𝜙𝜙 − �𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙� sin𝜙𝜙 cos𝜙𝜙� 

 −𝐴𝐴𝜙𝜙 ��
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

sin𝜙𝜙� sin𝜙𝜙 cos𝜙𝜙 − �𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙� sin2 𝜙𝜙� 

 + �sin
2𝜙𝜙 cos𝜙𝜙
𝜌𝜌

𝐴𝐴𝜌𝜌𝐵𝐵𝜌𝜌 + sin𝜙𝜙 cos2 𝜙𝜙
𝜌𝜌

𝐴𝐴𝜌𝜌𝐵𝐵𝜙𝜙 −
sin3 𝜙𝜙
𝜌𝜌

𝐴𝐴𝜙𝜙𝐵𝐵𝜌𝜌 −
sin2 𝜙𝜙 cos𝜙𝜙

𝜌𝜌
𝐴𝐴𝜙𝜙𝐵𝐵𝜙𝜙�. 

 𝐴𝐴𝑥𝑥
𝜕𝜕𝐵𝐵𝑦𝑦
𝜕𝜕𝜕𝜕

= �𝐴𝐴𝜌𝜌 cos𝜙𝜙 − 𝐴𝐴𝜙𝜙 sin𝜙𝜙� �𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

sin𝜙𝜙 − sin𝜙𝜙 cos𝜙𝜙
𝜌𝜌

𝐵𝐵𝜌𝜌 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

cos𝜙𝜙 + sin2 𝜙𝜙
𝜌𝜌

𝐵𝐵𝜙𝜙� 

 = �𝐴𝐴𝜌𝜌 cos𝜙𝜙 − 𝐴𝐴𝜙𝜙 sin𝜙𝜙� 

 × ��𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

+ 𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜙𝜙

𝜕𝜕𝜙𝜙
𝜕𝜕𝜕𝜕
� sin𝜙𝜙 − sin𝜙𝜙 cos𝜙𝜙

𝜌𝜌
𝐵𝐵𝜌𝜌 + �𝜕𝜕𝐵𝐵𝜙𝜙

𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

+ 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜙𝜙

𝜕𝜕𝜙𝜙
𝜕𝜕𝜕𝜕
� cos𝜙𝜙 + sin2 𝜙𝜙

𝜌𝜌
𝐵𝐵𝜙𝜙� 



2 
 

 = �𝐴𝐴𝜌𝜌 cos𝜙𝜙 − 𝐴𝐴𝜙𝜙 sin𝜙𝜙� ��𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙� sin𝜙𝜙 − sin𝜙𝜙 cos𝜙𝜙
𝜌𝜌

𝐵𝐵𝜌𝜌 

 + �𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙� cos𝜙𝜙 + sin2 𝜙𝜙
𝜌𝜌

𝐵𝐵𝜙𝜙� 

 = 𝐴𝐴𝜌𝜌 ��
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

cos𝜙𝜙� cos2 𝜙𝜙 − �𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙� sin𝜙𝜙 cos𝜙𝜙� 

 −𝐴𝐴𝜙𝜙 ��
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

cos𝜙𝜙� sin𝜙𝜙 cos𝜙𝜙 − �𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙� sin2 𝜙𝜙� 

 −�sin𝜙𝜙cos
2𝜙𝜙

𝜌𝜌
𝐴𝐴𝜌𝜌𝐵𝐵𝜌𝜌 −

sin2𝜙𝜙cos𝜙𝜙
𝜌𝜌

𝐴𝐴𝜌𝜌𝐵𝐵𝜙𝜙 −
sin2𝜙𝜙 cos𝜙𝜙

𝜌𝜌
𝐴𝐴𝜙𝜙𝐵𝐵𝜌𝜌 + sin3 𝜙𝜙

𝜌𝜌
𝐴𝐴𝜙𝜙𝐵𝐵𝜙𝜙�. 

 𝐴𝐴𝑥𝑥
𝜕𝜕𝐵𝐵𝑧𝑧
𝜕𝜕𝜕𝜕

= �𝐴𝐴𝜌𝜌 cos𝜙𝜙 − 𝐴𝐴𝜙𝜙 sin𝜙𝜙� �𝜕𝜕𝐵𝐵𝑧𝑧
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝑧𝑧
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙� 

 = 𝐴𝐴𝜌𝜌 �
𝜕𝜕𝐵𝐵𝑧𝑧
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝑧𝑧
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙� cos𝜙𝜙 − 𝐴𝐴𝜙𝜙 �
𝜕𝜕𝐵𝐵𝑧𝑧
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝑧𝑧
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙� sin𝜙𝜙. 

 𝐴𝐴𝑦𝑦
𝜕𝜕𝐵𝐵𝑥𝑥
𝜕𝜕𝜕𝜕

= �𝐴𝐴𝜌𝜌 sin𝜙𝜙 + 𝐴𝐴𝜙𝜙 cos𝜙𝜙� �𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − sin𝜙𝜙 cos𝜙𝜙
𝜌𝜌

𝐵𝐵𝜌𝜌 −
𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

sin𝜙𝜙 − cos2𝜙𝜙
𝜌𝜌

𝐵𝐵𝜙𝜙� 

 = �𝐴𝐴𝜌𝜌 sin𝜙𝜙 + 𝐴𝐴𝜙𝜙 cos𝜙𝜙� 

 × ��𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

+ 𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜙𝜙

𝜕𝜕𝜙𝜙
𝜕𝜕𝜕𝜕
� cos𝜙𝜙 − sin𝜙𝜙 cos𝜙𝜙

𝜌𝜌
𝐵𝐵𝜌𝜌 − �𝜕𝜕𝐵𝐵𝜙𝜙

𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

+ 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜙𝜙

𝜕𝜕𝜙𝜙
𝜕𝜕𝜕𝜕
� sin𝜙𝜙 − cos2𝜙𝜙

𝜌𝜌
𝐵𝐵𝜙𝜙� 

 = �𝐴𝐴𝜌𝜌 sin𝜙𝜙 + 𝐴𝐴𝜙𝜙 cos𝜙𝜙� ��𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙� cos𝜙𝜙 − sin𝜙𝜙 cos𝜙𝜙
𝜌𝜌

𝐵𝐵𝜌𝜌 

 −�𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙� sin𝜙𝜙 − cos2 𝜙𝜙
𝜌𝜌

𝐵𝐵𝜙𝜙� 

 = 𝐴𝐴𝜌𝜌 ��
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

sin𝜙𝜙� sin2 𝜙𝜙 + �𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙� sin𝜙𝜙 cos𝜙𝜙� 

 +𝐴𝐴𝜙𝜙 ��
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

sin𝜙𝜙� sin𝜙𝜙 cos𝜙𝜙 + �𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙� cos2 𝜙𝜙� 

 −�sin
2𝜙𝜙 cos𝜙𝜙
𝜌𝜌

𝐴𝐴𝜌𝜌𝐵𝐵𝜌𝜌 + sin𝜙𝜙 cos2 𝜙𝜙
𝜌𝜌

𝐴𝐴𝜌𝜌𝐵𝐵𝜙𝜙 + sin𝜙𝜙 cos2 𝜙𝜙
𝜌𝜌

𝐴𝐴𝜙𝜙𝐵𝐵𝜌𝜌 + cos3 𝜙𝜙
𝜌𝜌

𝐴𝐴𝜙𝜙𝐵𝐵𝜙𝜙�. 

 𝐴𝐴𝑦𝑦
𝜕𝜕𝐵𝐵𝑦𝑦
𝜕𝜕𝜕𝜕

= �𝐴𝐴𝜌𝜌 sin𝜙𝜙 + 𝐴𝐴𝜙𝜙 cos𝜙𝜙� �𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + cos2 𝜙𝜙
𝜌𝜌

𝐵𝐵𝜌𝜌 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − sin𝜙𝜙 cos𝜙𝜙
𝜌𝜌

𝐵𝐵𝜙𝜙� 

 = �𝐴𝐴𝜌𝜌 sin𝜙𝜙 + 𝐴𝐴𝜙𝜙 cos𝜙𝜙� 

 × ��𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

+ 𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜙𝜙

𝜕𝜕𝜙𝜙
𝜕𝜕𝜕𝜕
� sin𝜙𝜙 + cos2𝜙𝜙

𝜌𝜌
𝐵𝐵𝜌𝜌 + �𝜕𝜕𝐵𝐵𝜙𝜙

𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕
𝜕𝜕𝜕𝜕

+ 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜙𝜙

𝜕𝜕𝜙𝜙
𝜕𝜕𝜕𝜕
� cos𝜙𝜙 − sin𝜙𝜙 cos𝜙𝜙

𝜌𝜌
𝐵𝐵𝜙𝜙� 

 = �𝐴𝐴𝜌𝜌 sin𝜙𝜙 + 𝐴𝐴𝜙𝜙 cos𝜙𝜙� ��𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙� sin𝜙𝜙 + cos2 𝜙𝜙
𝜌𝜌

𝐵𝐵𝜌𝜌 

 + �𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙� cos𝜙𝜙 − sin𝜙𝜙 cos𝜙𝜙
𝜌𝜌

𝐵𝐵𝜙𝜙� 

 = 𝐴𝐴𝜌𝜌 ��
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

cos𝜙𝜙� sin2 𝜙𝜙 + �𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙� sin𝜙𝜙 cos𝜙𝜙� 
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 +𝐴𝐴𝜙𝜙 ��
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

cos𝜙𝜙� sin𝜙𝜙 cos𝜙𝜙 + �𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙� cos2 𝜙𝜙� 

 + �sin𝜙𝜙 cos2𝜙𝜙
𝜌𝜌

𝐴𝐴𝜌𝜌𝐵𝐵𝜌𝜌 −
sin2 𝜙𝜙 cos𝜙𝜙

𝜌𝜌
𝐴𝐴𝜌𝜌𝐵𝐵𝜙𝜙 + cos3𝜙𝜙

𝜌𝜌
𝐴𝐴𝜙𝜙𝐵𝐵𝜌𝜌 −

sin𝜙𝜙 cos2 𝜙𝜙
𝜌𝜌

𝐴𝐴𝜙𝜙𝐵𝐵𝜙𝜙�. 

 𝐴𝐴𝑦𝑦
𝜕𝜕𝐵𝐵𝑧𝑧
𝜕𝜕𝜕𝜕

= �𝐴𝐴𝜌𝜌 sin𝜙𝜙 + 𝐴𝐴𝜙𝜙 cos𝜙𝜙� �𝜕𝜕𝐵𝐵𝑧𝑧
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝑧𝑧
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙� 

 = 𝐴𝐴𝜌𝜌 �
𝜕𝜕𝐵𝐵𝑧𝑧
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝑧𝑧
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙� sin𝜙𝜙 + 𝐴𝐴𝜙𝜙 �
𝜕𝜕𝐵𝐵𝑧𝑧
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝑧𝑧
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙� cos𝜙𝜙. 

 𝐴𝐴𝑧𝑧
𝜕𝜕𝐵𝐵𝑥𝑥
𝜕𝜕𝜕𝜕

= 𝐴𝐴𝑧𝑧 �
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

sin𝜙𝜙�, 

 𝐴𝐴𝑧𝑧
𝜕𝜕𝐵𝐵𝑦𝑦
𝜕𝜕𝜕𝜕

= 𝐴𝐴𝑧𝑧 �
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

cos𝜙𝜙�, 

 𝐴𝐴𝑧𝑧
𝜕𝜕𝐵𝐵𝑧𝑧
𝜕𝜕𝜕𝜕

= 𝐴𝐴𝑧𝑧
𝜕𝜕𝐵𝐵𝑧𝑧
𝜕𝜕𝜕𝜕

. 

Combining the above expressions, we find 

 (𝑨𝑨 ∙ 𝜵𝜵)𝑩𝑩 = 𝐴𝐴𝜌𝜌 ��
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

sin𝜙𝜙� cos2 𝜙𝜙 − �𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙� sin𝜙𝜙 cos𝜙𝜙�𝒙𝒙�  

 −𝐴𝐴𝜙𝜙 ��
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

sin𝜙𝜙� sin𝜙𝜙 cos𝜙𝜙 − �𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙� sin2 𝜙𝜙� 𝒙𝒙� 

 + �sin
2𝜙𝜙 cos𝜙𝜙
𝜌𝜌

𝐴𝐴𝜌𝜌𝐵𝐵𝜌𝜌 + sin𝜙𝜙 cos2 𝜙𝜙
𝜌𝜌

𝐴𝐴𝜌𝜌𝐵𝐵𝜙𝜙 −
sin3 𝜙𝜙
𝜌𝜌

𝐴𝐴𝜙𝜙𝐵𝐵𝜌𝜌 −
sin2 𝜙𝜙 cos𝜙𝜙

𝜌𝜌
𝐴𝐴𝜙𝜙𝐵𝐵𝜙𝜙�𝒙𝒙� 

 +𝐴𝐴𝜌𝜌 ��
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

cos𝜙𝜙� cos2 𝜙𝜙 − �𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙� sin𝜙𝜙 cos𝜙𝜙� 𝒚𝒚� 

 −𝐴𝐴𝜙𝜙 ��
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

cos𝜙𝜙� sin𝜙𝜙 cos𝜙𝜙 − �𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙� sin2 𝜙𝜙� 𝒚𝒚� 

 −�sin𝜙𝜙cos
2𝜙𝜙

𝜌𝜌
𝐴𝐴𝜌𝜌𝐵𝐵𝜌𝜌 −

sin2𝜙𝜙cos𝜙𝜙
𝜌𝜌

𝐴𝐴𝜌𝜌𝐵𝐵𝜙𝜙 −
sin2𝜙𝜙 cos𝜙𝜙

𝜌𝜌
𝐴𝐴𝜙𝜙𝐵𝐵𝜌𝜌 + sin3 𝜙𝜙

𝜌𝜌
𝐴𝐴𝜙𝜙𝐵𝐵𝜙𝜙�𝒚𝒚� 

 + �𝐴𝐴𝜌𝜌 �
𝜕𝜕𝐵𝐵𝑧𝑧
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝑧𝑧
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙� cos𝜙𝜙 − 𝐴𝐴𝜙𝜙 �
𝜕𝜕𝐵𝐵𝑧𝑧
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝑧𝑧
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙� sin𝜙𝜙� 𝒛𝒛� 

 +𝐴𝐴𝜌𝜌 ��
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

sin𝜙𝜙� sin2 𝜙𝜙 + �𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙� sin𝜙𝜙 cos𝜙𝜙�𝒙𝒙� 

 +𝐴𝐴𝜙𝜙 ��
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

sin𝜙𝜙� sin𝜙𝜙 cos𝜙𝜙 + �𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙� cos2 𝜙𝜙� 𝒙𝒙� 

 −�sin
2𝜙𝜙 cos𝜙𝜙
𝜌𝜌

𝐴𝐴𝜌𝜌𝐵𝐵𝜌𝜌 + sin𝜙𝜙 cos2 𝜙𝜙
𝜌𝜌

𝐴𝐴𝜌𝜌𝐵𝐵𝜙𝜙 + sin𝜙𝜙 cos2 𝜙𝜙
𝜌𝜌

𝐴𝐴𝜙𝜙𝐵𝐵𝜌𝜌 + cos3 𝜙𝜙
𝜌𝜌

𝐴𝐴𝜙𝜙𝐵𝐵𝜙𝜙�𝒙𝒙� 

 +𝐴𝐴𝜌𝜌 ��
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

cos𝜙𝜙� sin2 𝜙𝜙 + �𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙� sin𝜙𝜙 cos𝜙𝜙�𝒚𝒚� 

 +𝐴𝐴𝜙𝜙 ��
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

cos𝜙𝜙� sin𝜙𝜙 cos𝜙𝜙 + �𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙� cos2 𝜙𝜙� 𝒚𝒚� 

 + �sin𝜙𝜙 cos2𝜙𝜙
𝜌𝜌

𝐴𝐴𝜌𝜌𝐵𝐵𝜌𝜌 −
sin2 𝜙𝜙 cos𝜙𝜙

𝜌𝜌
𝐴𝐴𝜌𝜌𝐵𝐵𝜙𝜙 + cos3𝜙𝜙

𝜌𝜌
𝐴𝐴𝜙𝜙𝐵𝐵𝜌𝜌 −

sin𝜙𝜙 cos2 𝜙𝜙
𝜌𝜌

𝐴𝐴𝜙𝜙𝐵𝐵𝜙𝜙�𝒚𝒚� 



4 
 

 + �𝐴𝐴𝜌𝜌 �
𝜕𝜕𝐵𝐵𝑧𝑧
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝑧𝑧
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙� sin𝜙𝜙 + 𝐴𝐴𝜙𝜙 �
𝜕𝜕𝐵𝐵𝑧𝑧
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝑧𝑧
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙� cos𝜙𝜙� 𝒛𝒛� 

 +𝐴𝐴𝑧𝑧 �
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

sin𝜙𝜙�𝒙𝒙�  + 𝐴𝐴𝑧𝑧 �
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

cos𝜙𝜙�𝒚𝒚� + 𝐴𝐴𝑧𝑧
𝜕𝜕𝐵𝐵𝑧𝑧
𝜕𝜕𝜕𝜕
𝒛𝒛�. 

Further simplifications yield 

 (𝑨𝑨 ∙ 𝜵𝜵)𝑩𝑩 = �𝐴𝐴𝜌𝜌 ��
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

sin𝜙𝜙� cos2 𝜙𝜙 − �𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙� sin𝜙𝜙 cos𝜙𝜙�  

 +𝐴𝐴𝜌𝜌 ��
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

sin𝜙𝜙� sin2 𝜙𝜙 + �𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙� sin𝜙𝜙 cos𝜙𝜙� 

 −𝐴𝐴𝜙𝜙 ��
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

sin𝜙𝜙� sin𝜙𝜙 cos𝜙𝜙 − �𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙� sin2 𝜙𝜙� 

 +𝐴𝐴𝜙𝜙 ��
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

sin𝜙𝜙� sin𝜙𝜙 cos𝜙𝜙 + �𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙� cos2 𝜙𝜙� 

 + �sin
2𝜙𝜙 cos𝜙𝜙
𝜌𝜌

𝐴𝐴𝜌𝜌𝐵𝐵𝜌𝜌 + sin𝜙𝜙 cos2 𝜙𝜙
𝜌𝜌

𝐴𝐴𝜌𝜌𝐵𝐵𝜙𝜙 −
sin3 𝜙𝜙
𝜌𝜌

𝐴𝐴𝜙𝜙𝐵𝐵𝜌𝜌 −
sin2 𝜙𝜙 cos𝜙𝜙

𝜌𝜌
𝐴𝐴𝜙𝜙𝐵𝐵𝜙𝜙� 

 −�sin
2𝜙𝜙 cos𝜙𝜙
𝜌𝜌

𝐴𝐴𝜌𝜌𝐵𝐵𝜌𝜌 + sin𝜙𝜙 cos2 𝜙𝜙
𝜌𝜌

𝐴𝐴𝜌𝜌𝐵𝐵𝜙𝜙 + sin𝜙𝜙 cos2 𝜙𝜙
𝜌𝜌

𝐴𝐴𝜙𝜙𝐵𝐵𝜌𝜌 + cos3 𝜙𝜙
𝜌𝜌

𝐴𝐴𝜙𝜙𝐵𝐵𝜙𝜙� 

 +𝐴𝐴𝑧𝑧 �
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

sin𝜙𝜙�� 𝒙𝒙� 

 + �𝐴𝐴𝜌𝜌 ��
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

cos𝜙𝜙� cos2 𝜙𝜙 − �𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙� sin𝜙𝜙 cos𝜙𝜙� 

 +𝐴𝐴𝜌𝜌 ��
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

cos𝜙𝜙� sin2 𝜙𝜙 + �𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙� sin𝜙𝜙 cos𝜙𝜙� 

 −𝐴𝐴𝜙𝜙 ��
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

cos𝜙𝜙� sin𝜙𝜙 cos𝜙𝜙 − �𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙� sin2 𝜙𝜙� 

 +𝐴𝐴𝜙𝜙 ��
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

cos𝜙𝜙� sin𝜙𝜙 cos𝜙𝜙 + �𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙� cos2 𝜙𝜙� 

 −�sin𝜙𝜙cos
2𝜙𝜙

𝜌𝜌
𝐴𝐴𝜌𝜌𝐵𝐵𝜌𝜌 −

sin2𝜙𝜙cos𝜙𝜙
𝜌𝜌

𝐴𝐴𝜌𝜌𝐵𝐵𝜙𝜙 −
sin2𝜙𝜙 cos𝜙𝜙

𝜌𝜌
𝐴𝐴𝜙𝜙𝐵𝐵𝜌𝜌 + sin3 𝜙𝜙

𝜌𝜌
𝐴𝐴𝜙𝜙𝐵𝐵𝜙𝜙� 

 + �sin𝜙𝜙 cos2𝜙𝜙
𝜌𝜌

𝐴𝐴𝜌𝜌𝐵𝐵𝜌𝜌 −
sin2 𝜙𝜙 cos𝜙𝜙

𝜌𝜌
𝐴𝐴𝜌𝜌𝐵𝐵𝜙𝜙 + cos3𝜙𝜙

𝜌𝜌
𝐴𝐴𝜙𝜙𝐵𝐵𝜌𝜌 −

sin𝜙𝜙 cos2 𝜙𝜙
𝜌𝜌

𝐴𝐴𝜙𝜙𝐵𝐵𝜙𝜙� 

 +𝐴𝐴𝑧𝑧 �
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

cos𝜙𝜙�� 𝒚𝒚� 

 + �𝐴𝐴𝜌𝜌 �
𝜕𝜕𝐵𝐵𝑧𝑧
𝜕𝜕𝜕𝜕

sin2 𝜙𝜙 + 𝜕𝜕𝐵𝐵𝑧𝑧
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙 cos𝜙𝜙 + 𝜕𝜕𝐵𝐵𝑧𝑧
𝜕𝜕𝜕𝜕

cos2 𝜙𝜙 − 𝜕𝜕𝐵𝐵𝑧𝑧
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙 cos𝜙𝜙� 

 +𝐴𝐴𝜙𝜙 �
𝜕𝜕𝐵𝐵𝑧𝑧
𝜕𝜕𝜕𝜕

sin𝜙𝜙 cos𝜙𝜙 + 𝜕𝜕𝐵𝐵𝑧𝑧
𝜌𝜌𝜌𝜌𝜙𝜙

cos2 𝜙𝜙 − 𝜕𝜕𝐵𝐵𝑧𝑧
𝜕𝜕𝜕𝜕

sin𝜙𝜙 cos𝜙𝜙 + 𝜕𝜕𝐵𝐵𝑧𝑧
𝜌𝜌𝜌𝜌𝜙𝜙

sin2 𝜙𝜙�+𝐴𝐴𝑧𝑧
𝜕𝜕𝐵𝐵𝑧𝑧
𝜕𝜕𝜕𝜕
� 𝒛𝒛�. 

 (𝑨𝑨 ∙ 𝜵𝜵)𝑩𝑩 = �𝐴𝐴𝜌𝜌 �
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

sin𝜙𝜙� + 𝐴𝐴𝜙𝜙 �
𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙�  

 −�sin𝜙𝜙
𝜌𝜌

𝐴𝐴𝜙𝜙𝐵𝐵𝜌𝜌 + cos𝜙𝜙
𝜌𝜌

𝐴𝐴𝜙𝜙𝐵𝐵𝜙𝜙�+ 𝐴𝐴𝑧𝑧 �
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

cos𝜙𝜙 − 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

sin𝜙𝜙�� 𝒙𝒙� 

 + �𝐴𝐴𝜌𝜌 �
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

cos𝜙𝜙� + 𝐴𝐴𝜙𝜙 �
𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

cos𝜙𝜙� 
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 + �cos𝜙𝜙
𝜌𝜌

𝐴𝐴𝜙𝜙𝐵𝐵𝜌𝜌 −
sin𝜙𝜙
𝜌𝜌

𝐴𝐴𝜙𝜙𝐵𝐵𝜙𝜙�+ 𝐴𝐴𝑧𝑧 �
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

sin𝜙𝜙 + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

cos𝜙𝜙�� 𝒚𝒚� 

 + �𝐴𝐴𝜌𝜌
𝜕𝜕𝐵𝐵𝑧𝑧
𝜕𝜕𝜕𝜕

+ 𝐴𝐴𝜙𝜙
𝜕𝜕𝐵𝐵𝑧𝑧
𝜌𝜌𝜌𝜌𝜙𝜙

+ 𝐴𝐴𝑧𝑧
𝜕𝜕𝐵𝐵𝑧𝑧
𝜕𝜕𝜕𝜕
� 𝒛𝒛�. 

 (𝑨𝑨 ∙ 𝜵𝜵)𝑩𝑩 = 𝐴𝐴𝜌𝜌 �
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

𝝆𝝆� + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

𝝓𝝓�� + 𝐴𝐴𝜙𝜙 �
𝜕𝜕𝐵𝐵𝜌𝜌
𝜌𝜌𝜌𝜌𝜙𝜙

𝝆𝝆� + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜌𝜌𝜌𝜌𝜙𝜙

𝝓𝝓�� + 𝐴𝐴𝑧𝑧 �
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

𝝆𝝆� + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

𝝓𝝓�� 

 −𝜌𝜌−1�𝐴𝐴𝜙𝜙𝐵𝐵𝜙𝜙𝝆𝝆�−𝐴𝐴𝜙𝜙𝐵𝐵𝜌𝜌𝝓𝝓�� + �𝐴𝐴𝜌𝜌
𝜕𝜕𝐵𝐵𝑧𝑧
𝜕𝜕𝜕𝜕

+ 𝐴𝐴𝜙𝜙
𝜕𝜕𝐵𝐵𝑧𝑧
𝜌𝜌𝜌𝜌𝜙𝜙

+ 𝐴𝐴𝑧𝑧
𝜕𝜕𝐵𝐵𝑧𝑧
𝜕𝜕𝜕𝜕
� 𝒛𝒛�. 

 (𝑨𝑨 ∙ 𝜵𝜵)𝑩𝑩 = 𝐴𝐴𝜌𝜌 �
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

𝝆𝝆� + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

𝝓𝝓� + 𝜕𝜕𝐵𝐵𝑧𝑧
𝜕𝜕𝜕𝜕

𝒛𝒛��+ 𝐴𝐴𝜙𝜙𝜌𝜌−1 ��
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜙𝜙

− 𝐵𝐵𝜙𝜙�𝝆𝝆� + �𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜙𝜙

+ 𝐵𝐵𝜌𝜌�𝝓𝝓� + 𝜕𝜕𝐵𝐵𝑧𝑧
𝜕𝜕𝜙𝜙

𝒛𝒛�� 

 +𝐴𝐴𝑧𝑧 �
𝜕𝜕𝐵𝐵𝜌𝜌
𝜕𝜕𝜕𝜕

𝝆𝝆� + 𝜕𝜕𝐵𝐵𝜙𝜙
𝜕𝜕𝜕𝜕

𝝓𝝓� + 𝜕𝜕𝐵𝐵𝑧𝑧
𝜕𝜕𝜕𝜕
𝒛𝒛��. 

 


